
S2 Fig. Adjusted HRs for all-cause mortality and micro-and macro-vascular complications of diabetes associated with 1 daily portion of fresh fruit in

subgroups of participants with diabetes at baseline
a) All-cause mortality b) Microvascular complications c) Macrovascular complications

1. Overall effect of usual fresh fruit consumption after adjusting for regression dilution bias; 2. Overall effect of baseline fresh fruit consumption before adjusting for regression dilution bias.
* 182 participants had missing values on blood glucose.
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